SINDHI HIGH SCHOOL, BANGALORE.

e
) ‘ ANNUAL EXAMINATION, 2023-24
..., ENGLISH- LANGUAGE AND LITERATURE
CLASS: IX MAX MARKS: 80
Reading time:8.00-8.15 am

DATE: 10.02.24
Writing time: 8.15 am-11.15 am

No. of pages:10

General Instructions:

1. The paper is divided into 3 parts:

1. Reading - 20 M
2. Writing and Grammar-20M

3. Literature -40M

1. Peer pressure is a phen

2. The thought, behaviour and taste in fashion, mu

SECTION A : READING SKILLS (20 marks)

I Read the Passage given below and answer the questions that follow:
omenon wherein we tend to get influenced by the lifestyle and

the ways of thinking of our peers. Peer pressure can prove beneficial but it is most often

observed to have negative effects.
sic, television and other walks of life

of the masses are often seen to have a deep impact on society. We tend to get influenced
by the lifestyle of our peer group. The changing ways of our peers often force us to
life and leading it. It is a human tendency to do what the

change our ways of looking at

crowd does. Few dare to resist the peer pressure and be their own selves.
. Peer pressure is bound to affect most of us both positively and negatively. The

distinction between positive and negative peers lies ina thoughtful analysis of the views
of the masses. Following your peers blindly leaves a negative impact on your life while
an analytical approach of looking at peer behaviour can help you act positively.
Peer pressure is not always bad. It can help you analyse yourself and contemplate your
ways of life. Some of the practices that the masses follow may actually teach you the
way of living. You may be able to change yourself for the better. Looking at what others
do, can help you bring about a positive change in your way of thinking. If you can pick
selectively, peer pressurc can result in a positive change in your way of life.
Teenage is that phase of life when you are exposed to the world outside. These are the
years when you spend most of your time with your friends. Teenage is the phase of
beginning to become independent in life, the year of forming your ideas and principles,
the years that shape your personality and the years that introduce you to your own self.
As adolescents you often spend most of your daily time with friends and owing to this,
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On the basis of your understanding of the pas i
choosing the most appropriate option: 1x10=

[. Why are teenagers more likely to be affected by peer pressure?

a) They spend little time with their friends
b) They spend most of their time with their friends
o) They spend most of their time with their parents

d) None of the above

2. How can one distinguish between the positive and negative peer pressure?

3. Pick the strategies which ensures positive gain from peer pressure:

a) A strong support from family
b) An ability to differentiate between positive and negative

o A skill to choose friends
d) All of the above

4. Teenage is the phase of years of

5. We can obtain the positive benefits of peer pressure with:
a) Selective approach b) Open-minded approach

¢) Carefree approach d) Blind belief

6. Give an appropriate title for the passage.

7. How can family and teacher support teenagers?
8. Write the synonym of 'imitate' as given in paragraph .

ou are bound to influence you.
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1) Read the following extract: (10m)

The space race in the world has multiple players, the USA, Rugiit, Tnps sl b,
the world’s leading countries have sent {heir satellites nnd spacevialla g eaplone e
abyss that lies above. With its recent achicvements, Hdia i proved Gt it dove ot dliy
away from exploring space. Here are some of the achivvements that s 1 g one o
the elites:

The Aryabhata :Designed and fabricated sompletely in India, the Avyahihata wan (he
country's first satellite. The spacecrall was launched on 19t April 1975, by i Hoviel
Kosmos-3M rocket from Kapustin Yar.,

Rohini :On 18th June, 1980, India developed and Taunched a mevicn of fome gafel bt
Launched by the Indian Space Research Organization (ESROY, three ol the e ites nd
it to orbit.

Chandrayaan-1 :A feather in India's hat, the Chands: ayaan =L owa an annsnned anm
orbiter sent to orbit the Moon at a height of 100 kilometrey from the Tunar sarince (ol
chemical, photo-geologic and mineralogical mapping, Compriging instraments huilt in
the USA, UK, Germany, Sweden, and Bulgaria, the spacecrall completod aver 5 A00)
orbits around the moon.

Mars Orbiter Mission: On 5th November, 2013, India launched thig misgion and became
the first country to succeed on its maiden attempt to Mars, The spacecrall alyo referred 1o
as Mangalyaan, reached Mars' orbit on 24th September, 2014, thus making 1SRRO fourth
space agency in the world to do so.

Chandrayaan-2: On 22nd July, 2019, the world watched with hated breaths ag India
launched its second mission to the Moon from Sriharikota, India, Termed GSILV-Mk 111,
the mission will make India the 4th country to send land rover on the Moon's surface aftes
China, USA and Russia and join the elite group.
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O the basis of your understanding of the above passage, answer the following questions by
s 008Ing the most appropriate option: 1x10=10
L 3¢ purpose of the above passage 1s (Im)
Prove that India is not a failure in the space sector
Show that India has failed in its achievements in the space sector
Call attention to India's achievements in the space sector
Highlight and prove India's superiority in the space sector
Select the option that is true for the tWo statements given below. (1m)
A. The Mars Orbiter Mission has been one of India's biggest achievements in the space sector,
8. The Mars Orbiter Mission reached Mars' orbit before the launch of Chandrayaan -2.
A is true, B is false |
Ais false, B is true
A is independent of B(they have no connection with each other)
i A contradicts B
3. Select the option that gives the correct meaning of the following phrase: "It does not shy
away". (Im)
1y Toavoid something because of fear or nervousness

» To not avoid something because of fear OT Nervousness



L

"

To not avoid something because of confidence

1 To avoid something because of over confidence

According to the passage, Rohini was a satellite launched the launch of India’s

first satellite. (Im)

1)
)
?)
1)

X

1)

Five years subsequent to
Five years prior to

Five years antecedent to
Both (a) and (¢)

Which of the following satellites was launched from a Russian site? (lm)
Rohini Satellite

‘_ Mars Orbiter Mission

?)
)

Aryabhata Satellite
Chandrayaan -2

According to the above passage, India's achievements in the space sector were

(1m)
What has India proved with its most recent achievements? (2m)
What do you understand by 'elite'? (1m)

The antonym of 'maiden' as used in the passage is: (1m)

The first attempt b) The last attempt
¢) Never tried d) None of these

SECTION B: GRAMMAR & WRITING(20M)

I1I Attempt ANY TEN of the following questions. 1x10=10
) Fill in the blank by choosing the correct option.
I my summer project yesterday and now Iam bored.
2) am completed b) has completed ¢) completed d) am completing

iiy Fill in the blank by choosing the correct option. -
According to scientists, chimpanzees walk upright like a man.
a) may b) can ¢) should d) must

i) Fill in the blank by choosing the correct option.

Each of the girls given a present.
a) wWas b) were c) are d) have




iv) Identify the error and supply its correction in the given sentence.
I remember my promise. I would help you in the hour of your need.

Error Correction

¥ Fillin the blank by choosing the correct option: _
Before I reached the hospital, the doctor performed the operation.
2) has b) was ¢) had d) will have

v) Report into indirect speech.
Aman said to Tia, "Did you go to the mall yesterday "?

viD) Fill in the blank by choosing the correct option.

By the next month, we shall (complete) the project.
viil) Everyone obey the traffic rules.
a) should b) might c) may d) can

ix) Fill in the blank by choosing the correct option.
A pair of branded glasses quite expensive these days.
a) was b) has c) are d) is

x) Report into indirect speech.
You said to me, "I have wasted my time".

xi) Identify the error and supply its correction in the given sentence.
Twenty miles are a long way to walk,

| Error Correction
|

L

xi) Complete the given narrative, by filling the blank with the correct option. The

experience of nursing an injured bird left me grateful for knowing the
importance of being kind and compassionate to all creatures.
a). feeling  b) having felt ¢ )felt d)feels

IV a) A Cultural Show was held in your school on the occasion of its Annual Day
recently. Write a descriptive paragraph of the event witnessed by you. Take hints



from the poings given below, (100-120 words) (k)
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(OR) S marks

R On the basis of the outline given, write a short story:

me N A "o “c“\ x 3 1 [
@ It was New Year's Fve, As | looked out of the window, 1 felt despondent

SECTION C: LITERATURE

VI Attempt ANY ONE of two extract given below: )

AT find it ditficult to tear myself away from the square. Flute music always does
this to mey it is at onee the most universal and most particular of the sounds. There
s no culture that does not have its flute - the reed neh, the recorder, the Japanese,
shakuhachi, the deep bansuri of Hindustani classical music, the clear or breathy
fluted of South America, the high pitched Chinese flutes. Each has its specific
fingering and compass. It weaves its own associations. Yet to hear anyv flute 1s,
it scems to me, to be drawn into the commonality of all making, to be moved by
music closest in its phrases and sentences to the human voice. Its motive force
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iv) Flute music is the most universal
Elaborate.(2m)

(OR)
on wag pending, “Well, a

B) Mahendra would have (o cemind him that the conclusi
veterinary doctor was summoned (o revive the animal,” Tswaran would shrug casually.
\ s led away by its mahout to the jungle” “well, how did you
~ how did you bring down the beast?” “It has something to
sir. Karate or jiu-jitsu it is called. 1 had read about it

> Not a day passed

«

“Two days later it we
manage to do it, Iswaran -
do with a Japanese art, 1 think,

somewhere. 1t temporarily paralyses the nervous sysiem, you see,”
recounting some  story packed with adventure, horror, and

without Iswaran
suspense.(Iswaran the storyteller)
1. The elephant had to be led away because: (choose the most appropriate option)

(1m)

a) it had strayed into the school

b) it had collapsed
¢) it had been whacked by Mahendran on the third toenail and had collapsed

d) it was mad -
2. What strategy did Iswaran use to create interest in the story? (2m)
3. Give a synonym for ‘recount.’ e (1m)
4.The Japanese art is efficient because it ; (Im)
VII Attempt ANY ONE of two extracts given below: ~ (Sm)
A) Remember they have eyes like ours that wake or

sleep, and strength that can be won
By love. In every land is common life

(No men are foreign)

that all can recognize and understand.
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(The Lake lsle of

Inistree) fer he cursed hep?
1 what hannened to her after he ¢ ' hey'

ETY, aint Peter angry at the woman and what happened to her afte

. Why was Saint Peter angry a (The legend of Northland)

i =
i ; V0 ). JNa=
IN Answer the following questions in about 40-50 words(Any I'wo)
. X e . TR I ( 1he Huappy Pnince)
I Why did the linle swallow decide to help the Prince” ( The Happy

i ) - ¥ » B0 § [ e ag?) | he ,‘!!'.i[“
2 How did Johnsy associate herself with the falling of leaves (1he Last Leal)

({he adventures of Toto)

p ‘ . . . B 7 W'D
3.Did Toto stay with the narrator's family forever? Why'

N. Answer the following question in about 100-120 words (Any one). A Ix676

Scientists can make or destroy the world. Write with reference to the lesson' A beautiiul
mingd’,

OR
You met Evelyn Glennie from “The sound of music’ at a music concert. Write & diary
entry about your impression of her and how physical disabilitics do not limit 4 person
from achieving his/her dreams.

N Answer the following question in about 100-120 words(Any one) IxO 6

Iic Happy Prince met the narrator in ‘A house is not a home" and advises him to be
positive and things will change for the better, Imagine a conversation between them and
write a dialogue.

OR

Imagine you are Lushkof¥ from * The Beggar'. Wnite an article, setung your life as an
example and the values you have leamnt on the w 2Y 10 SuUCCess,

.......................................................................
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P SINDHI HIGH SCHOOL, BENGALURU
T W Annual Examination- 2023-2024
Subject : Mathematics Basic

Date: 6/02/2024 Marks:80
Class: 1 X Time: 3 h
No of printed sides: 8 Reading time : 8.00-8.15am

i

|

|

|

| Writing time: 8.15-11.15am
| AL ST Al g g 3

|

| ertu your name, rol numhcr class and section, date and subject clearly in your
| answcer script.

| 1. This Question Paper has 5 Sections A-E.

| 2. Section A has 20 MCQs carrying | mark each

3. Scction B has 5 questions carrymo 02 marks each.
| 4. Section C has 6 questions carrying 03 marks each.

| 5. Section D has 4 questions carrying of 05 marks.

| ' 6. Section E has 3 case based integrated units of assessment (04 marks) with subparts

| of the values of 1, 2 and 1marks each respectively.

; of 3 marks and 2 Questions of 5 marks has been provided.

L 8. Draw neat figures wherever required. Take 7 =22/7 wherever required if not stated

| 7. All Questions are compu]sory However, an internal choice in 2 Qs of 2 marks, 2 Qs

SINo | Section A has 20 MCQs carrying 1 mark each Marks |
1. |Given a polynomial p(t) = t* - t* + t* + 6, then p(-1) is 1|
(@6 (b)9 (©)3 (-1 |
F Zero of the polynomial p(x) =2 - 3x is |
E | 3 2 | 1
@2 (b)-3 ©3 @3
! |
! | J
| 3 Ordinate of a point is positive in i t
(2) I and IT quadrants. (b) I and IIT quadrants. 1 }
(c) II and III quadrants. (d) I and IV quadrants. ‘
The point which lies on y-axis at a distance of 5 units in the negative
4.  direction of y-axis is 1
(a) (0,5) (b)(5,0) (c) (0,-5) (d) (5,0 |

1 Double of the same things are

]
|

|
(a) equal (b) unequal (c) halves of same thing (d) double of same thingil 1




|
|

Which of the following, needs a prool? e () Postulute
() heorem () Axiom (¢) Dolimtion | l
Tosolve the equation 20 15 we uge Lnchid's....
(1) postulute (b) axions
(V) stadement (d) Theorem
L, W the piven fipure, pair o ndjocent angles i l
. \ P
(0 ZCOA and 2 BBOA (b) 2COA and 2ZBOC
() ZA0B and 23O () none of these
0, I the pivenfipuee, it 2ZAQC 50% then (ZAOD + 2COB) is L',(lll:.ll to
o \\:
(a) 100° (b) 140° (c) 260° (d) 130°
0. T the given fipure, (he t:m\p,t'uchcy rale used in proving T
AACH = AADRB ig
(@) ASA (b) SAS
(¢} AAS (d) none of these
UL {In two triangles, ABC and POR, ZA = 30°, 213 =70%, 2P = 70°, 2Q = |
80 and AB = RP, then
(2) AABC = PQR (b) AABC =2 AQRP
(¢) AABC = ARPQ (d) AABC 2= ARQP
12 [ Which of the following §s not a eriterion for congruence of triangles?
(2) SAS (b) ASA
(c) SSA (d) SSS

B e e T U




13. |Givena qti?m?i'{-?l}é{{éﬁﬁ?‘(ﬁczn such that L'C o
BD bisect each other at O, then the quadrilateral 156
(b) trapezium

— (¢ and did

(a) rhombus

| (¢) parallelogram (d) rectan ple
|

14 |Ina quadrilateral ABCD, equal diaéi;-r;ﬁllrédﬂﬁ”z'x‘l"igl B inters
such that AP = PC and BP = PD), also 2BPC = 90, then quac

exactly
' (a) a parallelogram (b) a square
| (c) a rhombus (d) a Trapezium

15 Class mark of the class 7080 is

(a) 65 (b) 85
()75 (d) 150

B, C, D respectively. If AB = 10 cm, then length CD is

ﬁ};‘(‘)—m![ A and

cet at I,
Irilateral 15

(a) 5 cm (b) 10 ¢cm
) L(c) 7.5 cm (d) 20 ¢cm
The region between g chord and either of the arcs is called
(a) an arc (b) a sector
(¢) a segment (d) a semicircle

18  Inthe given figure, value of y is

— e,

S—

—

16 |Giv N - R (———
en two concentric circles with centre O. A line cuts the circles at A, ||

———




Direction for questions 19 & 20: In question numbers 19 and 20, 4
statement of Assertion (A)ds fallowed by a statement of Reason
{R). Choose the correct uptlun _l

| d ¢ l'_ ‘- N '--I!-I -‘T- it s - . . x't"\a;-i. .}i
19 Asertion (A) If the diagonals of a parallelogram ABCD wre eual,
ABC =9%°

[ Xt 3 i T i | Wwitam 4l'c .'\7".,;-'.:‘
Reason (R): 11 the diagonals 01 4 parallelogram are ¢4

eclangle.

dBoth A and R are true and R 13 the correct @ \l"
b)Both A and R are true but R 15 not the correct eyplanialion o
C)A 18 true but R 15 false
A 18 Talse but R is true,

(200 Assertion '\l' \3 18 an irrational number
Reason (R): Square root of a positive integer which s not a perieud
, square 1s an srrational number
| (a)Both A and R are true and R is the correct explanation of A
(b)Both A and R are true but R s not the correct explanation of A
| (C)A 1s true but R is false.
Ixi)f\ 18 false but R is true. ‘
SECTION- B has 3 qtu:stmm carrving 02 marks cach.

121, ¢ If= 1isa zero of "'Ir“‘r- viromial ;A x) = ax e g o d, et ing U
value of ‘a’
OR
i Y “n i - . ¥
Find the value of the polynoimial pv) = ¥ -aa"*axe 2 al v=.
3: | UT‘,H\ the bm“: '..\m}: the values of ¥, v as gIven i the tabic d write L
11s linear equation
x 0 -3
¥ -3 0
P e e B AR -
1 ¢ “a calendar. Wnite a hnear
T §!‘.\\<‘~$ g Caic
} f 2 notebook is 3 mes th
a5, [he cost« 3 J 3 s g
eguation n 1w vanables to represent Uns SERGHEH
\‘r ‘1 i
e il T j -~ f & A M utiew :
i : * e o ; ¢ ‘ & 15 2
24 Find -.t.*“f'"‘ .'e.rfnw w,,ua.'z W e
"+ &y = 0



[
>y

P ) =52 —doT e
126, IfAix) =52 = dx+ 35, find A1

1 213, ind the value of x and y.

{ m

!
y

le— Y
|
|

—— |

OR

——

is-. - — ————— e | sl = ‘
In the given tigure ify ;- Iy 2

\~C has 6 q i Arrying
> O questions carrying 03 marks cach

> )+ A0 3

, j OR

| F‘ i tr o o T " S .

| i ‘mc the value of ke, if x + k is the factor of the polynomials

| P A =2+ k5

; |

| 27 i ' “the 1 :

| :iF;lildtlhe s.ol.utlon of the l'rncar equation x+2y=8 which represents a 3
! pomt on (i) The x-axis (ii) The y-axis

| 28. !\:\,fl'itf'.‘ the coordinates of the following points: 3
| 1).lymg on neither axes at a distance of 5 units from the x-axis and 3

| lunits from the y-axis.

i i(11) lying on y-axis with the y-coordinate (-7).

| (ii1) lying on the x-axis with x-coordinate 8.

I 29. |In the given figure PR = QS. then show that PQ = RS. State thej
; postulate/axiom is used for the same.

|f ¢ - - = .

| P Q R 5

-

| 30.  |Prove that angles opposite to equal sides of an isosceles triangle are 3
| equal.

i 31. | The perimeter of an isosceles triangle is 32 cm. The ratio of equal side [3

to the base is 3 : 2 Using Heron’s formula, find the area of triangle.
OR
The perimeter of a triangular garden is 90 cm and its sides are in the

ratio 2:3:4 Using Heron’s formula, find the area of triangular garden

5




Cp 05 marks ench |
T CTION-D has 4 qm fons of (30 :
L SECTION- Dh i _
— VS andy '
EL e s vt 1N o ; Vo
32 ind the valoe of XY TR T
OR
-y :.i,.‘.-.f find the v alue of l’ b
If p= = a0d @ = {7
. §44 0 Clah A , - :
N E— ¥ orodueed meets o
T e th, y such that 31 prod
| 33 1 AARC, E s he miid - nnml of median Al suel
58
| AC at F. IEAC = 10.5 e, then Find AL
i
| j subtended by a T the anglels
| 34 Pm\ that the angle subtended by an are at the Centre is double the ang
| bllbtended by it at any point on the remaining p.n( of the cirele.
{35, The heights (in cm) of emplm cos in an office are as follows: 5

e —

E: Heights (in em) “1"Number of emplnwe
l 130 — 140 3
| 140 — 150 18
I 150 — 160 20
160 - 170 3
170 - 180 4
180_-190 - 3 S ALY

Draw the histogram and frequency polygon of the above table.
OR

The school fee of different schools in a city 1s as follows

Monthly school fee (thousand) No. of schools
0-20 5
20-40 8
40-60 6
60-80 4
80-100 2

Draw the histogram and frequency polygon of the above table.
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SliETﬁ-l& has 3 case based integn*gn-i;a:l—t?nits

marks) with subparts of the values of 1, 2 and 1marks each

.-cspcctively

i ——— e

e T

'"C?._s—e-study-—based questions are compulsory

I

Reeta was studying in the class 9th C of St. Surya. Public schqol 3 )
Mehrauli, New Delhi-110030 Once Ranjeet an?d his daugf}ter Reeta were
ceturning after attending teachers’ parent meeting at Reeta's 30!1001. As
the home of Ranjeet was close to the school so they were coming by
walking. Reeta asked her father, "Daddy how old are you?" Ranjeel 531(],
nqum of ages of both of us is 55 years, After 10 years my age will be

double of you.

(i) What is the second equation formed?

(i) If the ratio of age of Reeta and her father is 3 : 7 then' what is the
age of Reeta's father in years?

OR

. Ifreeta’s age is 20 what will be her father’s age? How many
bossible solutions can be there for a linear equation in 2 variable?

(i)  What is the First equation formed?
)

of assessment (04

e i el
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SO ey SINDHI HIGH SCHOOL, BENGALURU
? Annual Examination- 2023-2024
| — Subject : Mathematics standard
- Date: 6/02/2024 Marks:80
! Class: 1X Time: 3 h
No of printed sides: 8 Reading time : 8.00-8.15am
J— A i Writing time: 8.15-11.15am

' » Write your name, roll number, class and section, date and subject clearly in your
answer script.

. This Question Paper has 5 Sections A-E.

- Section A has 20 MCQs carrying | mark each

. Section B has 5 questions carrying 02 marks each.

- Section C has 6 questions carrying 03 marks each.

. Section D has 4 questions carrying of 05 marks.

- Section E has 3 case based integrated units of assessment (04 marks) with subparts

of the values of 1, 2 and 1marks each respectively.

. All Questions are compulsory. However, an internal choice in 2 Qs of 2 marks, 2 Qs

of 3 marks and 2 Questions of 5 marks has been provided.

(AR T SN S I N -

~l

8. Draw neat figures wherever required. Take & =22/7 wherever required if not stated
' SINo ‘ Section A has 20 MCQs carrying 1 mark each Marks
1 1. |If the decimal representation of a number is non-terminating 1
| ilnon- recurring, then the number is
| s (a) a natural number (b) a rational number
| (c) a whole number (d) an irrational number
2. j\/z is a polynomial of degree
| | 1 1
| E(a) 2 (b) 0 (c)1 (d) 2
3. jIf(2x +5) is a factor of 2x? — k, then value of k is
1
(a) 2 (b)-1 (c)25 (d) 25/2
The equation of x-axis is of the form
1
4 l@x=0 (b)y=0
©)x+y=0 (dx=y
) The graph of x =+ a is a straight line parallel to the
a ; 1
(a) x-axis (b) y-axis
(c) liney=x (d) linex+y=0

1



A point is at a distance of 3 units from the x-axis and 7 units from the |

y- axis. Which of the following may be the co-ordinates of the point?

@(7.3) ®)3.7) (©)(4, 5) (d)(0, 0)

l
} 7. |Class mark of a particular class is 6.5 and class size is 3, then
‘ i. class interval is |
': (a)5-8 (b) 6.5-9.5
 lo35-65 (d) 4.25 - 7.25
E§ Area of an equilateral triangle, of each side 2a units is
(@) ‘/Tg-az sq. units ®) 1;-& 5q. wits
(€) ¥3a?sq. uits @) 2v3a*sq. units
9. | Which of the following needs a proof ?
| :I (a) Theorem (b) Axiom (c) Definition (d) Postulate
10. |Ifa straight line falling on two straight lines makes the interior angles
on the same side of it, whose sum is 120°, then the two straight lines, if
produced indefinitely, meet on the side on which the sum of angles is
(a) less than 120° (b) greater than 120°
(c) equal to 120° (d) greater than 180°
11. | Angles of a triangle are in the ratio 2 : 4 3. The smallest angle of the
triangle is
(a) 60° (b) 40°
(c) 80° (d) 20°
12 In the given figure, if the angles x and y are in the ratio 2 : 3, then
angle z is
A
- 5: ;"‘ -
Z
Y
(a) straight angle (b) 144° (c) 126° (d) 90°




35,

e e e

e e e

In the giver

1 figure, 21 = £2 then the measurements of 23 and 24

1
respectively are
58‘
<A NI
a) 58°,61°  (b)61°,61° (c) 119°, 61° (d) 119°, 119°
: q |
14 1Ina iangle PQR, if ZQPR = 100° and PQ = PR, then R and 2Q |
respectively are
(a) 800, 70° (b) 800, 80°
(c) 70°, 80° (d) 40°, 40°
15 In the given figure, write the correspondence, if congruent. I
D c
X
A B
(a) AOAB = AODC (b) AABO = ADCO |
(c) AAOB = ACOD (d) AAOB = ACDO |
16  |In the given figure, the value of ZOPR is IT o
l
|
| |
(a) 65° (b) 10° '!
(c) 20° (d) 50° L
117 Diagonals of a cyclic quadrilateral are the diameters of that circle, then |1
q |
quadrilateral is a
i (a) parallelogram (b) square
| Eg(‘:) rectangle (d) trapezium
18 éGiven a circle of radius 5 cm and centre O. OM is drawn pe1jﬁé;."(1nil}ula"_m o
; to the chord XY. If OM = 3 c¢m, then length of chord XV is
' i(n) 4cm (b) 6 cm
', 1(c) 8 em (d) 10 cm
.

3




statement of Assertion

[~ irecti uesﬁmo: In question numbers 19 and 20, 5
kst (A) is followed by a statement of Reason

!a_

|

19 |Assertion (A): The sides of a trian

Reason (R): Perimeter of a triang

(a)Both A and R are true and Rist
(b)Both A and R are true but R 1s no

¢)R is not the correct explanation of A.

t the

(d)A is false but R is true.

perimeter is 45 cm. Then the area of the triangle is 4449.08 cm?.
. le=a+b+c, where a, b, c are sides of?

a triangle.
he correct explanation of A.

|

|
|

correct explanation of A. ['

midpoints of AC and AB

Assertion (A): In ABC, E and F are the

20
/ respectively. The altitude AP at

' Then, AQ = QP.
Reason (R): Q is the midpoint of AP.

(2)Both A and R are true and R is the correct explanation of A.

(b)Both A and R are true but R is not the correct explanation of A.

(c)R is not the correct explanation of A.

/ (d)A is false but R is true.

BC intersects FE at Q.

(R). Choose the correct option l
gle are in the ratio of 2 : 3: 4 and its |1~

r'

——

|
f SECTION- B has 5 questions carrying 02 marks each.

[21. | Simplify: (x +y +z)* —(x —y +z)*
OR

. ) 6 _
Find the value of a if o 32—

a3

R _._)_ e — ——

13 cm. Find its area using Heron’s form

|

| H
|I 22. | The cost of a notebook is 5 times the cost of a calendar. Write a linear |
{' equation in two variables to represent this statement. |
| |
[ 23. |Find the value of g, if the line 5y = ax + 10, will pass through (2,3) |2 |
|
| / _ |
[ 24, J The base of an isosceles triangle is 10 cm and one of its equal sides is |2
ula. .

.
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i ko that o1 g -, and s~ p, Show that r + 4 = 6,
| Ost
|

I the iven Siguies, we b, 2§ 1 and 1228 ot 215 2L

I

|
|
|
!
|
1

N( TION - has 6 questions carrying 07 marks each

|
0 ' i I T3
]2(" l” 2x 4 ’y 12 and xy 0, find the /4,';‘, of 4r V.
\ I
L OR
\ :' Yo | : y £ 349 / 2 find s
: '-,H %+ 2415 a factor f,f s - Qaty” + kv Lo+ 5, 1IN0 4. )
v v A T T
127, Find the equation of any two lines r,, m;rfnmu h the point (— 21, 42)
'5 i] low many such lines can be there?
128. | ert(, the coordingtes of the fullo mn s polnts: ’ ) 5
| "3 units from the x-axis and 5
' 5(1) lying on neither axes at a distance of 3 units from the z-zxis and
| units from the y-axis.
; 1(11) lying on y-axis with the y-coordinaie (-3).
| |(i11) lying on the x-axis with z-coordingte 4.
': OR
| :' a4 : s o 1 voavic? AC1 1% B(3. 0). C(0. 3)
| 'Which of the following points lie on the y-axis? Al1, 1), B(3,0), C(0, 3),
; ID(0, 03, E(=5, 0), F(0,=1), G(9, 0), H(0, -&).
: H )a 3 H
i 1 1+ ™y M T ‘2;
729, [Prove that every line segment has one and only one ridpoint 3
730, fnthe given figure, 21 = 55°, 2=20%,3 =35%and 4 =145".Prove 3

%thgﬂ.t AB || CD.

i A 8

i 4

!

i C o

} 4

o -
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Prove that angles opposile o equal sides of an isonoeles ilagle are

cauinl,

SECTION-D liny A4 quentions of 05 maly ench

‘ J:._f_ W2y
'\u\]l\hl\ ’/3 I\ Jﬂ | i/‘ \/f] 1 !/)

OR

Stoplity: 1WA BETU I KL
\/“ml Vi Vi I/l
e the piven fipguee, ABCH 5 o sauare, M s the imidpoint of AL s

PQ L CM meets AR al 1P and O3 produced at O, Prove that
HPA OB

(1) CP-ABIPA,

OR

i D is the midpoint AC
. MD is perpendicular to AC
ii. CM=AM=-AB

34.

subtended by it at any point on the remaining part of the circle.

e R

ABC is a triangle right angled at C. A line through the mid-point M of
hypotenuse AB and parallel to BC intersects AC at D. Then prove that,

Draw a histogram with a frequency polygon for t!Jemf(-)"l-Ibwingraléié':' o

Class- |25-29(30-34|35-39|40-44 |45-49(50-54

interval

Fregueney| 3 15 23 20 10 7

Prove that the angle subtended by an arc at the centre is double the arwk,

| L R S —!

~

&
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ol unibty of assessment (04

\ \ I'“‘
\E(WW(HQ\thnnﬂfnm~humilh“‘ﬂ hnurksvurh

e valen of 1, 2 and
mmhﬂuuhmmwwmnlmtumuﬂt .

vespectively e
Case stndy-based quostiony are compulsory -
\ v ' \ : ail Ay | T :-““Il& (t-.vl
M Roy, o Mathemuties teacher A}vlllllll (I‘ |
s I o i students, Some e given e,

2 Detween any (wo rational
o Vhere are infindte rational numbers hetween any |
nonbers

. : 1o chanee the ircational
Rationalization ol a denominator means (o change (he i

| 1

denomimator (o mtional Torn,

N mber cvetional s decimal form s non-lerminating, non-
ety

] i 1 \"-.' ; Ny ] ¥ Y v H ]
0 the hasis of these key points, Answer the following, questions
(O What is e reeiprocal of ) | V3 n

(O Find (he value of (2\3 LV5Y

OR ’
Find the value o' (V11 4 VLT A7)
Uii)\l-‘iml two different ivational numbers between the rational numbers
0.13 and 0,14, ]
Peter, Kevin J ames, Reeln

and Veena were studer

oints of unil | of

s of Class 9th B
at Govt St See School, Sector 5, Gurgaon. Once the teacher told
Peter to think a number x and to Kevin to think another number y
50 that the difference of the numbers is 10 (x > y). Now the

teacher asked James to add double of Peter's number and that three

times of Kevin's number, the total was found 120. Reeta just
entered in the class, she did not know any number. The teacher
said Reeta to form the 1st equation with two variables x and y.
Now Veena just entered the class so the teacher told her to form

2nd equation with two variables x and y.

(i)  What was the equation formed by Reeta 1
(i) ~ What was the equation formed by veena
(iii)  Frame a linear equation If peter’s number is 10 less

than twice Kevin’s number. Write two possible values 2
of x and y for this equation.

OR

Frame a linear equation if peter’s number is 12 more

than thrice kevin’s number. Find peter’s number if
kevin’s number is 4.




( for a picnic at hill
¢ hotel in the city.
al tentat d park.
he figure they
g cloth

Ajuy and Vijy wen
Jid not get a prope
e s ledd 10 make @ conit

100 m’ cloth with (thent, As shown int :
| dinmeter 14 m, The remalnn

[l Arun,
qennot, (hey
so they devic

e foui teiend

Ciaton e o peih

e wenther wi
ey Woere Cnirying

e the tent with heipht T

wan tsed Lor the floor,

i) What was the volume of the tent?

(
ii \ i . 1w & TS N 5
(i) What was the area of the cloth used for tent without base?
OR
What is the total surface arca of tent with base
i /hat was ' |
(i)  What was the area of the cloth used for floor?
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SINDIHIE HIGH SCHOOL, BENGALURT,
0\\\\“0" ETw . T ) A
Sy : ANNUAL EXAMINATION (2023-24)
X ) SUBIECT: SCIENCE,

f:\‘ﬁ IN_\'HIH". Lol

CLASS: IX MAX MARIKS: B0
DATE: 12/2/2024 WRITING TIMIG: 3 HOURS
NO OF PRINTED SIDES: 10 RIEADING ‘TIMIG 15 MINS

GENERAL INSTRUCTIONS:

i. This question paper consists o' 39 questions in § scetions.

ii. All questions are compulsory. However, an internal choice i provided in some questions, A

student is expected to attempt only one of these questions.

iii, Section A consists of 20 objective-type questions carrying | mark cach.

iv. Section B consists of 6 Very Short questions carrying 02 marks each, Answers to these questions

| should be in the range of 30 to 50 words,

v. Section C consists of 7 Short Answer type questions cartying 03 marks ench, Answers o these
questions should be in the range of 50 to 80 words.

vi. Section D consists of 3 Long Answer type questions carrying 05 marks cach. Answers (o these
questions should be in the range of 80 to 120 words.

vii. Section E consists of 3 source-based/case-based assessment units of 04 marks each with sub-
parts.
i USSR
E S QUES'I‘IONS MARKY
‘ NO. . ==
© SECTIONA SN, e
Select and write the most appropriate option out of the four options

given for cach of the questions 1 - 20. e

Ram heats a beaker containing ice and water. He measures the temperature
of the content of the beaker as a function of time. Which of the following

would correctly rep1 esent the result?

iy
0
1

1)

AT gy g s

a) III b) IV o)1 d) 11
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8 | Three students A, B and C determined the volume of 2 fzolid by jmmersing i
in water in the overflow cans as shown. The result obtained will be wrong
for
(a) Student A
(b) All of these
(c) Student B SEEE
(d) Student C
— : " . '—_'__-—I
9 Sania experiments t0 know how plant cells Jose or gain water through 1
osmosis. She cuts out 5 cm long potato strips. She puts three potato strips 11
each of the following beakers:
. Beaker 1 containing only water
.+ Beaker 2 containing 1% salt solution
. Beaker 3 containing 29, salt solution
Sania leaves the potato strips in the beaker for 5 hours.
1%:galtsoldtion 9% sdltsoliition
She records the length of the potato strips in each beaker after 5 hours.




What does X represent in the diagram?
(a) Golgi apparatus

TR !

o T Af"‘_gd‘t,;,;:?’jf. l \

Jpatier S iours | |

~ NSRS Gl
e | 53 o
L water ‘. 52 ‘i 5
\ B { $2 | :
| Beakerz | | 50_ : L
1%:salt solution | ‘ 5.0 - 1
$ i 4.9 ) E f
\ " Beakerd. ‘ 48 s E '
2% salf solution | 49 E 1 |
| E——-—‘ \ 47 i | [
-

What can Sania conclude from her experiment? Il |
(a) Cells gain water through osmosis when kept in a salt solution. |
(b) (Sjalt molecules from the cell move out when kept in water. | 5
Eg)) V;:elllts In salt solution first gain water and then gradually lose water. ;
ok er molecules move out of the cell based on the amount of salt in the | i
101. | E

{ {

- The diagram shows i ! ’
an animal cell with some of its organelles. Xisalsoa |1 |

cell organelle. N % a
-

-

|

\ |
.
.
{ i
| |

(b) Chromosomes
(c) Endoplasmic reticulum .?.
(d) Nucleus 1 ;
Which of these properties qualifies amoeba as eukaryotes? 1 1

| (a) It is unicellular.

| (b) It needs food for energy.

|

S —

(c) Ithas a membrane-bound nucleus.
(d) It has DNA as its genetic material.




12| The diagram shows the crop harvesting pattern followed by a farmer. Bed 1, |
Bed 2 and Bed 3 are different parts of the farm.

} : ' L ] %
| St § E
| | | |

f
‘a Yosrt
%
!
|
i_

r
I éﬁw
{
i Year2 P i
1 i 1 !
: i 1 oae |
% Caneh, Sean |
Bed4 Bod 3
i [— e o it § sy e v 1---:_
§ ¢ v?,, @ﬁ% ’
" A t‘-ﬂ .y ag |
s | AT : BL
| - f |
i Bean Cerrat Tomesn {
Bad 1 Bed2 Bod 2

i
1

What is the comumon term used for this pattern of crop harvesting?

(a) Crop rotation

are responsible for that?

(a) Stratified squamous epithelium
(b) Columnar epithelium

(c) Spindle fibres

(d) Cuboidal epithelium

(b) Mixed cropping J
(¢) Intercropping ’
(d) Organic farming '
13 | A car travels 10 m in 5 seconds, 20 m in the next 10 seconds, and 30 m in the |
last 10 seconds. The average speed of the motion is:
(a) 30 ms™ () 2.2 ms™ |
(c) 2.4 ms™ (d) 2.0 ms™ §
14 | A car accelerates uniformly from 18 km/h to 36 km/h in 5 sec. The 1
acceleration is 5
(a) 5 ms™ (b) 1 ms? l
(0) 1 km/s® (d) 216 ms™ |
15 | Intestine absorbs the digested food materials. What type of epithelial cells ' 1




16

Manure is organic matter used to enrich the 501l with nutrjeng, and alyg
improves the physical structure of the HOi].. Following are BOIME $agep,
regarding the composition or ¢ffects of using manure, Find gyt g
sentence about manure,

u:m(:m,,
Correcy

nutrients

ii. It increases the water-holdin g capacity of sandy soil

iii, It helps in draining out the excess of water from clayey soil

iv. Its excessive use pollutes the environment because it is made of animal
cxerctory waste

() (i) and (if)
(b) (i) and (iv)
() (ii) and (iii)
(d) (iii) and (iv)

1. Manure containg large quantitics of organic matger and smal| quantities (¢

Note: In the following questions 4 to 6, a statement of Assertion Is
followed by a statement of Reasoning, Choose the cor rect answer from
the following options,

(2) Both assertiop and reason are correct Statements, and reason is the
correct explanation for assertion,

(b) Both assertion and reason are correct statements but reason is not
the correct explanation for assertion,

(c) Assertion js correct, but reason is the wrong statement,

(d) Assertion is wrong, but reason is the correct statement,

S—

——

Reason (R): Naphthalene bal] gets converted into vapours due to

¢vaporation.

]
18 Assertion (A): Some cells like amoeba have changing shapes. 1
Reason (R): Unicellular organisms show cell shape-changing features. !
|

19 7 1
Assertion (A): Areolar tissue supports intemal organs and helps in tissue repair, l

Reason (R): Arcolar tissue is a widely distributed tissue in the body of adults. :

|

—

)J 20 |

/ Assertion (A): The speed or velocity of a car running on a crowded city road
I

changes continuously.

Reason (R): The movement of a car on a crowded city road is an example of

non-uniform acceleration.

f
|

Section B

f'
|
i
1
:|

(a) Define atomicity.

(b) Write the atomicity of the following:
(1) Sulphur (i) Phosphorus
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A stono ts dropped in n well 44, Im doep. The sound of a splash is heard,

13 5 afler tho stono is dropped. Find the velocity of the sound in the air,
(Take = 9.8 my)

(@) A steol noedlo sinks in water but a steol ship floats. Explain how.
() Why do you prefor a broad and thick handle for your suitcase?
(1) What ty,

ype of coll division takos place in the following:
(1) Replacement of damaged tissues,
(i1) He

aling of the wound.
(1) Dovoly

Pment of embryo from zygote
(iv) Formation of gumetes

(b) Comment on the Statement - Meiosiy enables the conservation of specific
chromosome numbors of each sSp

: ecies even though the process results in a
teduction of chromosome number,

e e Section D
(@) Why did Rutherford select

. a gold foil in his G-ray scattering experiment?
(b) Find out the valeney of the atoms Iepresented by Fig, (a)

and (b).
®

®)

(@)

(¢) Helium atom hag 2 electrons in its valence shel] but its valency is not 2,
Explain,

(d) Which of the following pairs are isotopes?

200, 210 2323 -

OR

(a) Enlist the conclusions drawn by Rutherford from his v-ray scattering
experiment, :

(b) Give two important applications of radioactive isotopes.

(a) Name the kinds of muscles found in your limbs and lungs. How do they

differ from cach other structurally and functionally?
(b) Draw a neat labelled diagram of a neuron.

OR




(a)
AN\ (VF A
. ]
| )
: D

A bt
L L

(i) Identify the given diagram.

(ii) Label the parts A, B, and C

(iii) How do Part C and Part D differ in function? —
(b) Draw a neat labelled diagram of any two simple permanent HBSHAS

e e —————
SR
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(a) What is meant by the frequency of sound waves?
(b) Give the range of frequencies of sound waves that
can detect,

(c) A source of wave produces 20 crests and 2
The distance between a crest and the next trou
(i) wavelength

(ii) frequency

(ii1) time period of the wave.

an average human car

0 troughs in 0.2 s.
gh is 50 ¢m. Find the

OR

From a cliff of 49 m high, a man drops a stone, One second later, he throws
another stone. They both hit the ground at the same time. Find out the speed
with which he threw the second stone.”

e e s e B e st e

Section E

37

100 ml of water was placed in four vessels A, B, C. and D. Vessels C, A and

D are of the same size, B is smaller, Vessel C is covered and C and D are
placed under the fan as shown:

B \ C D

R P

Placed under fan

\
l
I
|

|

i
?
i
|
!
|
|

|
|
!
i
i
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[ead the ahove information and answer the fr;]lr;vzmng questions, ‘ i
(1) In how many beakers, will water escape into the atmosphere a3 vapours?

(h) Afier one hour from the beginning of the experiment, the water Jevel will
fall to the mazimum in which bca.kw’{' |

(i) C; (i) Ay (i) 15 (iv) Bothin A and D o

(¢) A balloon, when kept in the sun, bursts after some time. Why?

OR

(¢) Why do we feel pleasant on a hot sunny day, while sitting under 2 tree?

e R e .

Large numbers of Bhetki fish died and got crushed in the turbines of
hydroclectric power stations while they migrated from river to sea. The
environmentalists gave the power plant the solution to this problem. Now all
Bhetki fish are removed with the help of 4 special technique and hence do
not enter the turbines to crush and die.

(a) As marine fish stock gets depleted, how can the demand for more fish be
met?

(b) What are the two advantages of a composite fish culture systemn?

(¢) Name two different varicties of marine fish.

OR

(c) What is aquaculture?

S

39

(a) The velocity-time graph of a ball moving on the surface of a floor is
shown in the figure. Find the force acting on the ball if the mass of the ball is
S0 g.

.I_ E iy = ;‘ - é = 7__3‘?‘ 5:_?)}.:"?‘% - ..'.' '?é:.. ...:ll
) ,/ : . _‘.‘,':,'-.__ e A K .::.:-._,_-v- ':- -;1; A- _'"._;;:7-_
o e e i G Sy el

(b) State laws of reflection. :
(¢) Describe an activity to study reflection of sound

OR
(c) What are the conditions for an echo to be heard?

1
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#2  SINDHI HIGH SCHOOL, BENGALURU

(] ANNUAL EXAMINATION [2023-24]
~==~_ SUBJECT: SOCIAL SCIENCE (087)

Class: X Max Marks: 80
Date: 8.2.2024 Reading Time: 8:00 to 8:15 am
No of Sides:07 Writing Time: 8:{5 to 11:.15 am

GENERAL INSTRUCTIONS:

. Question paper comprises Six Sections — A, B, C, D, E and F There are 37 questions in the question
paper. All questions are compulsory.

ii. Section A - From question 1 to 20 are MCQs of | mark each.

iii. Section B-Question no 21 to 24 are Very Short Answer Type Questions, carrying 2 marks each.
Answer to each question should not exceed 40 words.

iv. Section C contains Q 25 to Q 29 are Short Answer Type Questions, carrying 3 marks each. Answer to
cach question should not exceed 60 words,

v. Section D-Question no. 30 to 33 are long answer type questions carrying 5 marks each. Answer to each
question should not exceed 120 words,

vi. Section-E- Questions no from 34 to 36 are case based questions with three sub questions and are of 4
marks each.

vii. Section F-Question no. 37 is map based, carrying 5 marks with two parts, 37a. from History (2 marks)
and 37b. from Geography (3 marks). '

viii. There is no overal] choic

e in the question paper. However, an internal choice has been provided in
€W questions Only one of the choices in such questions have to be attempted.

ix. In addition to this, separate instructions are given with each section and question, wherever necessary.

SECTION -A |
QNo1-20 are MCQ-  Choose the best option: | |
. | .
Q.NO QUESTIONS | A
. argued that industrial society was ‘capitalist’. i (D !
a) Robert Owen b) Louis Blanc | r
c) Karl Marx d) Tsar Nicholas IT ; i

i

Match the correct columns (D)

i

Column I Column II |

A. Minimum Support Price 1. Ration Shops l

B. The Public Distribution System 1. Pre Announced Price |

C. Annaporna Scheme iit. 1992 |

D. Revamped Public Distribution System iv. 2000 :

a) A-i B-i C-iv D-iii -:
b) A-ii B-i CHii D-iv i
¢) A-iv B-iii C-i DA '
d) A-iii B-ii C4 D-iv '

Arrange the following in a chronological order: | (D

Page-1



A) '-1;‘|\C“Nu-l-i’l.)l-l-‘;llll.&S-h:CI'li-l)-j‘);-.é('\l1IDIL‘.I{:LI hac drafl of the constitution.

B) The Reign of Terror

() The abolition of censorship { France
D) Louis X VI of the Bourbon family of kings ascended the throne 0

2) (D), (C), (A), (B)
b) (A), (D), (B), (€)
© ) (O), (A, (B), (D)
B TR C RGN L) I - o
What is meant by Social Exclusion?
a) Process by which all individuals are excluded from certain privileges
b) Process by which all individuals are given privilepes
¢) Process in which individuals as group are excluded from facilities and
opportunities that are enjoyed by the general public people
| __dNoneofthcabove — B :
5. Choose the correct option: M pres oy e e
a) A concentration camp : .
b) Hitler addressing SA and SS columns
¢) Nuremburg rally in 1936
d) Hitler being greeted at the Party
Congress in 1938

6. Napoleon Bonaparte was finally defeated in the battle of P L “)ﬂ'
a) Versailles in 1815 -

b) Bordeaux in 1815

c¢) Waterloo in 1815

d) Nantes in 1815

1. Democracy is better than any other form of govcrnlﬁt-:'i'lﬂlﬁh-é&-l-n;'E o _ o
a) Itis a more accountable form of government.

b) Itis all about political competition and power play.

c) It leads to corruption.

d) It never allows the quality of decision making.

()

8. The Western coastal Strip, South of Goa is referred to as o
a) Coromandel b) Konkan  ¢) Kannada  d) Northern arca

9. Due to reasons there is a division of labour between men and women in 10( -
the family
a) Historical and Cultural b) Historical and Geographical l
¢) Cultural and Geographical d) Educational and Historical |
10. Depending on the length of the river, arrange them in descending order (1)
; i. Godavari ii. Kaveri it Krishna v, Mahanadi :
i I
3 ) (1) (i) (i) (iv) b (i) (iii) (iv) (i) !
‘t o () (D (V) () d) (iv) (i) (i) ()
& A !t A statement of Assertion (A) is followed by a statement of Reason (R) L (1)
| , |

Page-2



2 g y
Awsertion (A) - Dionght creates a shortagn of (ood in affected arca

CReason (RY - Duoe to a natural calanmty total production of food prain decreases

O Both Assertion (A) and Reason (R are true, and Reason (R) 18 the correct

explanation ol Assertion (A)

by Both Assertion (A) and Reason (R) are true, and Reason (R) is the not the

cortect explanation of Assertion (A)
¢) Assertion (A) s trae, but Reason (R) i false.
Y Assertion (A) s tadse, and Reason (R) s true.

The Narmada and the Tapr are the only long rivers that make

a) Delta by Lagoon
¢) Pstuaries d) Backwaters

Whe gave the slogan “Garibi hatao™ i the Lok Sabha elections of 19717 A\

W N | R.!Hl.i R:H’
by Janta Party

¢ Indea Gandin
Jy RIP

|
|

(1)

&

—

|
|
}
{

{
1

e i

My friend hals from a country which does not share land boundary with India.

Fdentity the country
a) Bhutan b) Sri Lanka
¢) Banpladesh d) Nepal

(1)

| A statement of assertion (/{) Iismﬁ-)'il-i;_.w:é'(-lml;y.;s.?a_lémcnt of reason (R). Mark the

- correct choice.

Assertion (A): China is a democratic country.

Reason (R): In China, elections are held regularly after every five years to
| clect the country’s parliament.

a) Both Asscrtion (A) and Reason (R) are true, and R is the correct
. explanation of A
. b) Both A and R are true, but R is not the correct explanation of A
<) Adistrue but R is false
| d) Afis false but R is true

| (D

1 16.

| “A body of persons having authority to initiate major policies, make decisions
| and implement them on the basis of the Constitution and laws of the country.”
| a) Legislature b) Executive

¢) Judiciary d) Parliament

TP

The current anti-poverty strategy consists of two planks, they are
a) Socio-economic reasons and Public Distribution system
b) Promotion of economic growth and Targeted anti-poverty Programme
c)Anti-poverty programme and Promotion of economic growth
d) None of the above

(1)

18.

Complete the table
Plan Objective
1. 12th Plan Endeavors to make the country’s Gross Enrolment

(1

Page -3
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SECTION - K | axi=12
Q. 34 10 36 are Case - Based questions |

—
-

| Read the extract : .
the extract and answer the following questions

Ihe northern plain has been formed by the interplay of the three major
nver systems, namely — the Indus, the Ganga and the Bralimaputra along
with their tributaries. This plain is formed of alluvial soil. The deposition
of alluvium in a vast basin lying at the foothills of the Himalaya over
milhions of years, formed this fertile plain. It spreads over an arca of 7
lakh sq. km. The plain being about 2400 km long and 240 to 320 ki
broad, is a densely populated physiographic division.

34.1) Name the largest inhabited riverine island in the world. L)
34.11) The Ganga plain extends between rivers. ((h

34.1ii) Differentiate between bhangra and khadar. | (2)

e e e

35 Read the extract and answer the following questions ]
“Not everyone in Europe, however, wanted a complete transformation of
society. Responses varied from those who accepted that some change was

| necessary but wished for a gradual shift, to those who wanted to restructure |

l society radically. Some were ‘conservatives’, others were ‘liberals’ or '

| ‘radicals’. What did these terms really mean in the context of the time? What |

\ _ separated these strands of politics and what linked them together? We must

!

I

remember that these terms do not mean the same thing in all contexts or at all
; times.”

35 ii) What kind of a nation did the liberals want? (1)
35.iii) Mention any two significant views of the radicals. 2)
36. |  “The time is after midnight. An expectant crowd sitting for the past five hours
in a chowk of the town is waiting for its leader to come. The organisers assure
\ and reassure the crowd that he would be here any moment. The crowd stands

up whenever a passing vehicle comes that way. It arouses hopes that he has
come. The leader is Mr. Devi Lal, chief of the Haryana Sangharsh Samiti, who
was to address a meeting in Karnal on Thursday night. The 76-year-old leader,

Page -5

'\ 35.i) What were the beliefs of the conservatives? (1)




T A very busy man these days. His day starts at 8 a.m. and ends after 11 p.m.
" he had already addressed nine election meetings since morning... been
stantly addressing public meetings for the past 23 months and prépanng

cOns

for this election.”

36.1) Which party was formed by Chaudhary Devi Lal? (1)
36.i1) In 1991, which party won the state assembly elections? (1
36.ii) What were the promises Chaudhary Devi Lal made before the ' (2)
|| clections?
SECTION-F (2~3=5,
Q37 is Map marking
- 37a) History map for 2 marks,
37h) Geography map for 3 marks
37. a) On the outline map of France identify the following places: (2)
A) The Port city
B) National Anthem of France was first sung here
' b) In the given map of India, mark the following places "
i Wular lake b o
ii The state with lowest population density (L)
(1)

111 Malwa Plateau

**#it#***********#***********************************#**#*#***##331‘5




\ 37.a) WidP OT France

——

,

)

b) Map of India
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W s o AL Pt evele
AR A A N R R R R R R A
| TR ASONIREE s ity wikh e,
LR PRSI el G eieaie vieh data visnalization,
NI e s Boek o an AL avaieom s
T Warne Ve or Balse 5X1=5
Ladavirne e i BRe a owehat,
ool s el e identitieation o a problem and a vision 1o solve it,
LONumaTe datd vosisis of characiers, collection of words, sentences elc.
Alavsiam can bodevelopad as a new svatem only.

“hoaasaads 1 . ol T iy R
MooLRRnng does not waek on diserete data set,

HL Mulniple Chowe Questions 5X1=5

: weans using the project for i intended purpose at the actual site.
troiaet Oywele i, Deployment
Evaluation iv. Revaluation !

20 Which of the following is not a part of the 4Ws Problem Canvas?

Who? i What? til. Where? iv. When?
[a)
S Texmual & Numerje data are the types of ‘ 2
Lo Basic iii. Structured
Nmestamped iv. Unstructured

4, 3 vefers to any technique that enables computers to mimic human intelligence,

Dl it. ML oy iv. Al

e

5. The full form of ANN is : °
L. Artificial Network Neural iii. Algorithm Neural Network
. Artificial Neural Nenwork " iv. Algorithm Natural Network

t
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Give fvo oxnmples for ench 5X1=5
1o AL Madely,

o Nomves o Datg Acquisition

Lot ol eharks o peaphs

A Compenents of Deetston Tee

S Pavaimetors of By Dawyg

V. Short answers 5X1=5
Palist he Getors atteeting problen selving,
3 What do yvou mean by Deployment?
3 Name the thiee Tayers of Newral Network
4o bastany e uses of Big Data,
SOOWhat are the tpes of Ragie Data?
VI Auswer the following 0X2=12
L What is the ditterence hetween Rule Based Approach and Machine |earning Approach
20 Deaw the stages of AL Projeet Cyele,
A Dilerentiate between Training Dag and Testing Data,
4. Deseribe the working of ANN,
S0 What is the difterence between Struetured and Unstructured Data?
o, Mention any 4 methods of Data Acquisition,
V1L Name the following IX1=3
1. The deviee that tollows instructions using ANN,
Y. lhe type of Al model, the algorithn generates & mapping tunction from the given data.
3, The sceond stage of Al project cyele.
VIIL  Write the full form of 4X1=4
. Al 2. ML 3.NLP 4.8DG
IX. Application Based Questions . ' 3X2=6
[ Karan has been assigned a task by his 1\1 teacher tolmd where the ANN is used in real life. To
LOI'I\["‘L[L the task assigned to Karan suggest him at least five areas where ANN is used.
2. C hmm.n is working on a Robot but he is not able to decide which applmch his robot should follow
Rule based or Machine learning. Suggest him the difference between these two approaches.
3. Ishan is working on an Al project for his company. The data he has cqll’ccted is in raw form. Suggest

Hin the best data vizualization tool he must opt for the given situation. Also, which is the

visualization tool that is used to analyse data for decision making.
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